mMoOONUIGHT

Konsolun dikey kullanimi

Vertical usage of console

2 adet M8 civatayl dékUm konsolu armature baglamak icin, 2 adet M8
civatayr armaturu direge baglamak igin kullanin.

Use 2 pcs of M8 bolts to connect the casting console to
the fixture and use 2 pcs M8 bolt to connect the fixture to the pole.

*Montaj ve Bakim sadece yetkili personel tarafindan yapilmahdir.
*Installation and Maintenance must be performed by authorized personnel only.

*Bakimda sadece orijinal parcalar kullaniimahdir.
*Only original parts should be used during the maintenance.

L&C LUMINAIRE

Konsolun yatay kullanimi
Horizantal usage of console

Bracket

Bracket Fitting Part Detail

U-Bolt

Plate

r/'
1 i | Not: TUm 6lgiler milimetredir.
\\_‘-'."-"’} Note: All dimensions are in millimetres.

Braket Baglanti Pargasi Detayi

Bracket Fitting Parf

M8 Pul

7~ _Washer

M8
Somun / Nut
25 Nm

heper”

Modul Degistirme Detayi
Module Replacement Detail

2 x M4 Bolt
2,5Nm

plastic side cover

_Luminaire Module

Urinin elektrik baglantisini kesin.
Ust ekstruzyon plastik yan kapaklarn (sekilde gésterilen) cikarin.
ModUlon gbévde baglantisini saglayan 2 x M4 civatalarn sékin.

Cut the electric connection of the product.
Remove the fop extrusion plastic side covers(as shown in the figure).
Remove the 2 x M4 bolts which is connect the module to the body.

Modul Elektrik Baglanti Detayi
Module Electric Connection Detail

a. S6kme b. Takma
Plug Unplug




ITIDDFII_IGHT+L L&C LUMINAIRE

Surici Degistirme Detayi Konnektér Montaj Detayi

Connector Assembly Details

Driver Replacement Detail

plastic side cover
.

TH384

Kontrol Unitesi
Control Unit

Konnektorun Uzerinde bulunan agma-kapama igin

" . . L verilen yon isaretlerine uyarak, elekirik baglantisini kesin.
Ust ekstruzyon plastik yan kapaklar (sekilde gdsterilen) ¢ikarin.

Driver haznesinin gévde baglantisini saglayan 4 x M4 civatalarn
s6kUn. Haznenin elekirik baglantisini kesmek icin konnektodrleri
birbirinden ayirin.

the connector in the shown direction.

Remove the top extrusion plastic side covers (as shown in the figure).
Remove the 4xM4 bolts which is connect the driver box to the body.
Unplug the connectors from each other.

NEMA Soket Baglant Detayi
NEMA Socket Connection Detail

Common/Neutral Line

Not: Tum 6lgiler milimetredir.
Note: All dimensions are in millimetres.

!
*Bakimda sadece orijinal parcalar kullaniimahdir. 1\,_-'-!. i

*Montaj ve Bakim sadece yetkili personel tarafindan yapilmahdir. /'."
*Installation and Maintenance must be performed by authorized personnel only. 5@
*Only original parts should be used during the maintenance.

3 numarall alyan anahtar yardimiyla 6 adet M5 civatayi sdkerek,
kapagdi ¢ikarin.

Using allen no. 3 key remove the cover the removing 6 pcs of M5 bolts.

Cut the electric connection by turning the on-off located on

SUricUyU sékmek icin 2 adet M3 civatayir sékin.

Remove the 2 pcs of M3 bolts to remove the driver.

*UrGn rozgar yOku alani ve adirlik bilgileri
*Product wind load area and weight information

LL2017.664 LL2017.663 LL2017.662 LL2017.661
AW | Kg |AW | Kg | AW | Kg | AW | Kg
12,5 1 10 8.5
AN — )
) o 0.25 0.22 0.2




ITIDDFII_IGHT-{L

NEMA Soket Baglanti Detayi
NEMA Socket Connection Detail

CommonMNeutral

[White Wire) 0-10VDC ()

Dimming Control

0-10VDC (-) Dimming Cc_)ntact on Violet
Control Contact on Wire
Grey Wire
Dimming Pad
Contact
Receptacle
Housing

North Indicator Line (Black Wire)

0-10VDC Optional
Dimming Contact
on Orange Wire

0-1WDEC Opfional

Dimming Contact
on Brown Wire Load (Red Wire)
Common/Neutral
0-10VDC (#) b
Dimming Control T (White Wire)
Cl:_nnhn:t on Violet b -
Line Voltage Wire ~ 0-10VDC () Dimming
Contact Circuit Control Contact on

Grey Wire

Lead Wires

1] o-10vpc ogtional
77— Dimming Contact
'/ on Brown Wire

0-10VDC Opticnal
Dimming Contact —
on Orange Wire

Load (Red Wire)

# Mounting
Screws (2)

Gasket o
Luminaire
Housing
*Montaj ve Bakim sadece yetkili personel tarafindan yapilmahdir. /-—-
*Installation and Maintenance must be performed by authorized personnel only.
*Bakimda sadece orijinal parcalar kullaniimahdir. L\_‘_.'_l. !

*Only original parts should be used during the maintenance.

L&C LUMINAIRE

ARMATUR GENEL BiLGILERi
LUMINAIRE GENERAL INFORMATION

Product Watt : 35 /70W
Product Volt : 120V 50/60Hz
Product Driver Current : 700mA
CRI: 80 CRI

Luminaiire Bracket @: 60mm

ukhwn e

Onemli!

Bu Uriin UL1598 ve UL8750 standartlarina uygum olarak,
test islemine tabi tutulmustur.

NEMA soket pargasinda kullanilan kapak test

amaglidir. Kullanima baslamadan 6nce mevcut

kapak cikartilarak, UL listesine uygun foto
kontrol anahtari kullanilmahdir.

Important!

This product has been tested to UL1598 and UL8750 standarts.
NEMA socket cover for testing on the luminaire.

Before using, remove the cover and use the correct part for UL
list.

Not: Tim olguler milimetredir.
Note: All dimensions are in millimetres.

heper”

Product Code Sirension A B c
LL2017.661 955 295 205
LL2017.662 1095 295 205
LL2017.663 1235 295 205
LL2017.664 1375 295 205




	MOTAJ KILAVUZU 1
	Drawing View5
	Drawing View7
	Drawing View9
	Detail View D (1 : 10)
	Drawing View15
	Detail View O (1 : 10)
	Detail View P (1 : 10)

	MONTAJ KILAVUZU 2
	Drawing View16
	Detail View H (1 : 1)
	Drawing View18
	Drawing View19
	Drawing View20
	Drawing View22
	Drawing View24
	Drawing View25
	Drawing View26
	Drawing View28

	MONTAJ KILAVUZU 3
	Drawing View44
	Drawing View45
	Drawing View46


